Physics 78 Sections 103/107 (Bordel)
Date: March 14—1, 2022
Administrative Notes:

Wednesday is discussion again, no actual lab,
Held remotely again at this zoom link,

Lab grades posted.

MT2 covers material from eletfric point charges
up fTo and including DC circuits,
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When there is symmetry, and enough of it, you can probably use Gauss's law to find the field

But otherwise, you might want to find the potential first and then compute its gradient to find the field.
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e Problem 3: A conductor inside a capacitor (3]

This is problem 7 of WS E6 in your course workbook

Consider a parallel-plate capacitor with plates of area A separated by some small distance d.
It is initially charged up to some charge Q. and then disconnected from the battery. A neutral
conducting metal slab, also of area A and with width b < d. is then inserted between the plates
as shown below. What is the capacitance of this configyration? (Hint: it may help to start by
thinking about what the electric field looks like inside IQ(- capacitor.)
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